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The application of routing methods
for solving the traveling salesman
problem with multiple routes

By Mr.Nakarin Suwan
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ABSTRACT
This project is about the application of routing methods for solving the traveling salesman
problem with multiple routes in a case study, Ubon Kritanan Company Ltd in
Ubonratchathani province. This case study is a company that is a distributor of consumer
goods to customers by salesmen. These customers can be found at each point on the two
routes and in this research, there are 60 customers. The researcher applied the Arbitrary
Insertion Heuristic, the Clark and Wright Saving Heuristic, and the Nearest Neighbor Heuristic
solve the problem. Then, the solutions obtained from those methods are compared to the
current one and the one from lingo program. Arbitrary Insertion Heuristic can improve the
answer on Route 1. The distance can be reduced by 1.912 kilometers. Route 2 cannot be
improved and the distance increases by 19.927kilometers. The Clark and Wright Saving
Heuristic cannot improve the answers on Route 1. The distance increases by 0.216kilometer
and Route 2 can improve the answer. The distance can be reduced by 1.945 kilometers.
The Nearest Neighbor Heuristic can improve the answer on Route 1. The distance can be
reduced by 0.21 kilometer. Route 2 cannot be improved and the distance increases by 0.69
kilometer. For the solution from the Lingo software after running for 24 hours, the distance

of Route 1 and Route 2 can be reduced by 1.95 kilometers and 6.05 kilometers respectively.
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